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72�285�3$5,6+�� �)U��/XLV��D�QDWLYH�RI�*XDWHPDOD�DQG�
SULHVW�RI�WKH�0LVVLRQDU\�)UDWHUQLW\�RI�0DU\�LV�SUHDFKLQJ�DW�
DOO� 0DVVHV� WKLV� ZHHNHQG� DV� SDUW� RI� RXU� 0LVVLRQ� &R-2S���
3OHDVH�EH�YHU\�JHQHURXV�ZLWK� WRGD\¶V� VHFRQG�FROOHFWLRQ� WR�
VXSSRUW�WKH�0LVVLRQDU\�)UDWHUQLW\�RI�0DU\�LQ�LWV�PLVVLRQ�LQ�
SURPRWLQJ� YRFDWLRQV� WR� WKH� SULHVWKRRG� DQG� LQ� SURYLGLQJ�
HGXFDWLRQ�DQG�WUDLQLQJ�IRU�OD\�OHDGHUV�WR�ZRUN�ZLWK�WKH�SRRU�
DQG�ZLWK�\RXQJ�SHRSOH� 
 
%251�$*$,1�%<�:$7(5�$1'�7+(�+2/<�63,5,7���
:H�ZHOFRPH� LQWR� RXU� )DLWK�&RPPXQLW\�(YDQ� 3HUU\��ZKR�
GXULQJ�D�VSHFLDO�OLWXUJ\�RQ�6DWXUGD\�HYHQLQJ�$XJXVW��WK�ZDV�
IXOO\� LQLWLDWHG� LQWR� WKH� &KXUFK� WKURXJK� WKH� 6DFUDPHQWV� RI�
%DSWLVP�� &RQILUPDWLRQ� DQG� +RO\� (XFKDULVW�� � (YDQ�
GLOLJHQWO\� SUHSDUHG� IRU� WKLV� GD\� RQ� ZKLFK� KH� LV� ZDVKHG�
FOHDQ� LQ� WKH� ZDWHUV� RI� %DSWLVP�� FORWKHV� KLPVHOI� LQ� &KULVW�
DQG� EHFRPHV� D� QHZ� FUHDWLRQ�� � ,Q� &RQILUPDWLRQ� KH� LV�
DQRLQWHG�ZLWK�+RO\�&KULVP� DQG� WKURXJK� WKH� SRZHU� RI� WKH�
+RO\� 6SLULW� VKDUHV� LQ� WKH� SULHVWO\�� SURSKHWLF� DQG� NLQJO\�
PLQLVWU\�RI�-HVXV�&KULVW���0D\�(YDQ�WDVWH�DQG�VHH�WRGD\�DQG�
DOZD\V� WKH� JRRGQHVV� RI� WKH� /RUG� LQ� WKH� JLIW� RI� &KULVW¶V�
%RG\� DQG�%ORRG�� DQG� ILOOHG�ZLWK� WKH� DEXQGDQFH� RI�*RG¶V�
PDQ\�EOHVVLQJV��PD\�KH�EH�WUXO\�UDGLDQW�LQ�MR\���³:H�KDYH�
VHHQ� WKH� WUXH� OLJKW�� ZH� KDYH� UHFHLYHG� WKH� KHDYHQO\� 6SLULW��
ZH�KDYH�IRXQG�WKH�WUXH�IDLWK��DQG�ZH�ZRUVKLS�WKH�XQGLYLGHG�
7ULQLW\��IRU�WKH�7ULQLW\�KDV�VDYHG�XV�´���/LWXUJ\�RI�6W��-RKQ�
&KU\VRVWRP� 
 
21(�:25/'�'$<�� �6LQFH������WKH�&OHYHODQG�&XOWXUDO�
*DUGHQV�KDV�FHOHEUDWHG�2QH�:RUOG�'D\�XQGHU�WKH�WKHPH�RI�
³3HDFH� 7KURXJK� 0XWXDO� 8QGHUVWDQGLQJ´�� � 7KLV� \HDU� ZLOO�
PDUN� WKH� ��WK�$QQLYHUVDU\� RI�2QH�:RUOG�'D\� �SRVWSRQHG�
ODVW�\HDU�EHFDXVH�RI�WKH�SDQGHPLF��RQ�6XQGD\��$XJXVW���WK�
DW�WKH�&OHYHODQG�&XOWXUDO�*DUGHQV�EHWZHHQ�0/.�%OYG�DQG�
(DVW� %OYG�� IURP� ������ D�P�� WR� ����� S�P�� � 7KH� *DUGHQV�
XQLTXHO\�UHSUHVHQW�WKH�PDQ\�QDWLRQDOLWLHV�WKDW�PDNH�XS�WKH�
PRVDLF�RI�&OHYHODQG¶V�SRSXODWLRQ�� �7KH�GD\�ZLOO� LQFOXGH�D�
3DUDGH� RI� )ODJV�� HQWHUWDLQPHQW� DQG� GLYHUVH� HWKQLF� IRRG� DW�
WKH� LQGLYLGXDO� *DUGHQV�� LQFOXGLQJ� RXU� RZQ� 6ORYHQLDQ�
&XOWXUDO�*DUGHQ�RQ�(DVW�%OYG��QHDU�6W��&ODLU�$YH���EHWZHHQ�
WKH� 3ROLVK� DQG� WKH� &]HFK�*DUGHQV�� � 7KHUH�ZLOO� EH� D� %HHU�
*DUGHQ��D�&KLOGUHQ¶V�9LOODJH��IUHH�SDUNLQJ�DQG�PXFK�PRUH���
&RPH�DQG�FHOHEUDWH�&OHYHODQG�DQG�EH�SDUW�RI�RXU�&OHYHODQG�
6ORYHQLDQ�UHSUHVHQWDWLRQ�� 
 
3/($6(�127(���1H[W�6XQGD\��$XJXVW���WK�WKHUH�ZLOO�EH�
QR�������D�P��0DVV� LQ� WKH�FKXUFK�� �0DVVHV� LQ�FKXUFK�ZLOO�
RQO\�EH�RQ�6DWXUGD\�DW������S�P��DQG�6XQGD\�DW������D�P� 
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&KXUFK� 1HHGV�� ����� IURP�.DUO� =DMHF�� ���� IURP�%RE�	�
'RUHHQ� =DMHF� DQG� ���� IURP�'RULV� =DMHF� LQ� KRQRU� RI� $QL�
=DMHF¶V���WK�ELUWKGD\����������$QRQ\PRXV������LQ�PHPRU\�
RI� -XOLD� 2PDKHQ� IURP� 8UVXOD� 6WHSHF�� ���� LQ� PHPRU\� RI�
-XOLD� 2PDKHQ� IURP� 9LFWRU� 6WHSHF�� ���� LQ� PHPRU\� RI�
9ODGLPLU� .UDOM� IURP� 9LFWRU� 6WHSHF�� ���� $QRQ\PRXV� LQ�
PHPRU\�RI�(GL�*REHW]� 
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285� 67�� 0$5<� 6800(5� 3,&1,1&� ,6� 1(;7�
681'$<�� � $XJXVW� ��WK�� RXU� SDWURQDO� IHDVW� GD\� RI� WKH�
$VVXPSWLRQ� RI� 0DU\�� LV� RXU� DQQXDO� SLFQLF� DW� 6ORYHQVND�
3ULVWDYD�RQ�%UDQGW�5G��LQ�+DUSHUVILHOG���:H�ZLOO�EHJLQ�WKH�
GD\� ZLWK� 0DVV� DW� ������ QRRQ� IROORZHG� E\� D� GHOLFLRXV�
ZLHQHU�VFKQLW]HO�GLQQHU�SUHSDUHG�E\�RXU�6W��0DU\�6ORYHQLDQ�
6FKRRO�SDUHQWV���'LQQHUV�DUH�OLPLWHG�WR�������,I�\RX�ZDQW�WR�
EH�VXUH�\RX�JHW�D�GLQQHU��GRQDWLRQ�LV�����IRU�DGXOWV�DQG����
IRU� FKLOGUHQ��� FDOO� WKH� UHFWRU\� RIILFH� IRU� \RXU� UHVHUYDWLRQV���
$OVR�� DIWHU� 0DVV� KDPEXUJHUV� DQG� ,WDOLDQ� 6DXVDJH�
VDQGZLFKHV�ZLOO� EH� VHUYHG� LQ� WKH� ,QWHUQDWLRQDO�%LHUJDUWHQ���
)RU�\RXU�GDQFLQJ�DQG� OLVWHQLQJ�SOHDVXUH��$QVDPEHO�9HVHOL�
*RGFL�ZLOO�SOD\���/DWHU�LQ�WKH�DIWHUQRRQ��ZH�ZLOO�DOVR�KDYH�
þHYDSþLþL� GLQQHUV�� DQG� WKH� NLWFKHQ� ZLOO� EH� RSHQ� IRU�
KDPEXUJHUV� DQG� IULHV�� URDVW� EHHI� VDQGZLFKHV� DQG� NOREDVH���
2XU�$OWDU�6RFLHW\�ZLOO�KRVW�D�%DNH�6DOH��DQG�ZH�ZLOO� DOVR�
KDYH�D�&KLQHVH�$XFWLRQ��&KLOGUHQ¶V�JDPHV�DW������S�P��DQG�
WKUHH� ������ UDIIOHV�� � 7KH� SRRO� ZLOO� DOVR� EH� RSHQHG� IRU� D�
QRPLQDO� IHH�� � 3OHDVH� WU\� WR� EX\� RU� VHOO� DOO� RI� \RXU� UDIIOH�
WLFNHWV���0DLQ�UDIIOH�ZLOO�EH�DW������S�P���,QYLWH�\RXU�IDPLO\�
DQG� IULHQGV� DQG� MRLQ� XV� QH[W� 6XQGD\�� $XJXVW� ��WK� DW�
6ORYHQVND�3ULVWDYD�IRU�D�JUHDW�GD\�RI�IDPLO\�DQG�IXQ� 
 
:(�1(('�<285�+(/3����:H�DUH�LQ�QHHG�RI�JLIW�EDVNHWV�
IRU� WKH� &KLQHVH� $XFWLRQ� DQG� KRPHPDGH� EDNHG� JRRGV� IRU�
WKH�%DNH�6DOH���:H�DVN�WKDW�\RX�OLVW�WKH�JLIWV�LQ�WKH�EDVNHWV�
DQG� WKH� DSSUR[LPDWH� YDOXH� RI� WKH� EDVNHW�� �%DNHU\�PD\�EH�
EURXJKW�WR�WKH�SDULVK�KDOO�RQ�6DWXUGD\�GXULQJ�WKH�.URIH�6DOH�
RU� GLUHFWO\� WR�3ULVWDYD� RQ�6XQGD\�� � 3HRSOH� HVSHFLDOO\� ORRN�
IRUZDUG�WR�KRPHPDGH�QRRGOHV��VWUXGHO�DQG�SRWLFD�� 
 
.52)(� 6$/(�� �$OWDU�6RFLHW\�ZLOO�KDYH�D�.URIH�6DOH�RQ�
6DWXUGD\��$XJXVW���WK� LQ� WKH� SDULVK� KDOO� EHJLQQLQJ� DW� �����
D�P� 
 
3,/*5,0$*(� 72� 62552:)8/� 027+(5�
6+5,1(�� � 2Q� 6XQGD\�� $XJXVW� ��QG�� WKH� )HDVW� RI� WKH�
4XHHQVKLS�RI�0DU\��ZH�ZLOO�KDYH�RXU�DQQXDO�SLOJULPDJH�WR�
%HOOHYXH�� 2KLR�� � 0DVV� ZLOO� EH� FHOHEUDWHG� DW� ������ S�P���
IROORZHG� E\� IUHH� WLPH� IRU� IDPLO\� SLFQLF� RU� GLQQHU� LQ� WKH�
FDIHWHULD� �GLQQHU� UHVHUYDWLRQV� DUH�QHFHVVDU\��� �$IWHU� OXQFK��
ZH�ZLOO�ZDON� WKH�6WDWLRQV�RI� WKH�&URVV��DQG�FRQFOXGH�ZLWK�
6XQJ� /LWDQ\� RI� 0DU\�� %HQHGLFWLRQ� RI� WKH� %OHVVHG�
6DFUDPHQW� DQG� 3LOJULP¶V� %OHVVLQJ� LQ� WKH� &KXUFK�� � 6W��
-RVHSK� �����.6.-�)RXQGDWLRQ�ZLOO� SURYLGH� D�EXV� WR� SLFN�
XS�SLOJULPV�DW�6W��0DU\�&KXUFK�DQG�6W��9LWXV�&KXUFK�� �7R�
UHVHUYH�D� IUHH� VHDW�RQ� WKH�EXV��FRQWDFW�7RP�3HUFLF�DW����-
���-����� RU� HPDLO� WRPP\SHDNDN#JPDLO�FRP�� � :H�
HVSHFLDOO\�LQYLWH�RXU�\RXQJHU�IDPLOLHV�WR�MRLQ�XV�IRU�D�YHU\�
SUD\HUIXO�DQG�UHOD[LQJ�GD\� 
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3OHDVH�3UD\� IRU�2XU� 6LFN��%UDQNR�3LãRUQ��)UDQFHV�.UDOO��
7RP� 0F1XOW\�� 0ODGHQ� 	� 'XãDQND� /HQJHO�� 9HURQLND�
8GRYLþ��$QQ�0DULH�9HQH��7HG�-HQGD��&DPHOOH�%URZQ��%RE�
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6DWXUGD\ �����S�P� 6WDQ�=DODU�/RX�'UDVOHU 
6XQGD\ �����D�P� )ORULDQ�2VUHGNDU�7RQ\�2JULQF  
 
3526,02� =$� 32=251267�� � 1DVOHGQMR� QHGHOMR� ����
DYJXVWD� QH� ER� ������PDãD� Y� FHUNYL�� �0DãH� Y� FHUNYL� ERGR�
VDPR�Y�VRERWR�RE������XUL�LQ�Y�QHGHOMR�]MXWUDM�RE������XUL��
3526,02� =$� 9$â2� 3202ý��� � 3RWUHEXMHPR� GDULOQH�
NRãDULFH� ]D� NLWDMVNR� GUDåER� LQ� GRPDþH� SHFLYR� ]D� 3URGDMR�
SHFLYD�� �3URVLPR��GD�QDSLãHWH�GDULOD�Y�NRãDULFL�LQ�SULEOLåQR�
YUHGQRVW� NRãDULFH�� � 3HFLYR� ODKNR� SULQHVHWH� Y� åXSQLMVNR�
GYRUDQR�Y�VRERWR�]MXWUDM�PHG�SURGDMR�NURIRY�DOL�GLUHNWQR�Y�
QHGHOMR� QD� 3ULVWDYR�� � .XSFL� SRVHEQR� JOHGDMR� ]D� GRPDþH�
UH]DQFH��ãWUXGHO�LQ�SRWLFR��� 
520$1-(� .� ä$/2671,� 0$7(5,� %2ä-,�� � 1D�
SUD]QLN�0DULMH�.UDOMLFH��Y�QHGHOMR�����DYJXVWD�ERPR� LPHOL�
QDãH� URPDQMH� Y� %HOOHYXH�� 2KLR�� � 0DãD� ER� RE� ������
SRSROGDQ�� VOHGL� SURVW� þDV� ]D� GUXåLQVNL� SLNQLN� DOL� NRVLOR� Y�
MHGLOQLFL� �UH]HUYDFLMH� ]D� NRVLOR� VR� SRWUHEQH��� � 3R� NRVLOX�
ERPR� PROLOL� .ULåHY� SRW� LQ� ]DNOMXþLOL� ]� SHWLPL� OLWDQLMDPL�
0DWHUH�%RåMH�]�EODJRVORYRP�]�1DMVYHWHMãLP�LQ�5RPDUVNLP�
%ODJRVORYRP�Y�FHUNYL���6Y��-RåHID������.6.-�XVWDQRYH�ER�
SUHVNUEHO� DYWREXV� ]D� URPDUMH� RG� VY�� 9LGD� LQ� 0DULMH�
9QHERY]HWH�� �=D� UH]HUYDFLMH� SURVWHJD� VHGHåD� QD� DYWREXVX��
NOLþLWH� 7RPDåD� 3HUþLþD� � QD� ���-���-����� DOL� HPDLO�
WRPP\SHHNDN#JPDLO�FRP�� � 3RVHEQR� YDELPR� QDãH� PODMãH�
GUXåLQH�GD�VH�QDP�SULGUXåLMR�]D�PROLWYHQL�LQ�VSURãþHQL�GDQ� 
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'2%52'2â(/�*��/8,6�&$5/26�'(�/(21�3(5(=�
9� 1$â2� ä831,-2�� � J�� /XLV�� URMHQ� Y� *XDWHPDOL� LQ�
GXKRYQLN� RG� 0LVVLRQDU\� )UDWHUQLW\� RI� 0DU\�� SULGLJD� SUL�
YVHK� PDãDK� WD� YLNHQG� ]D� PLVLMRQVNR� SRPRþ�� � 3URVLPR�
ERGLWH� UDGRGDUQL� Y� GDQDãQML� GUXJL� QDELUNL� Y� SRGSRUR�
0LVVLRQDU\�)UDWHUQLW\�RI�0DU\�Y�GHOX�SRVSHãHYDWL�GXKRYQH�
SRNOLFH�LQ�SUHVNUEHWL�L]REUD]ER�LQ�Y]JRMR�]D�ODLþQH�YRGLWHOMH�
]D�GHOR�]�UHYQLPL�LQ�PODGLQR� 
35(52-(1�=�92'2� ,1� 69��'8+20���'REURGRãHO�Y�
QDãR� YHUVNR� VNXSQRVW� (YDQ� 3HUU\�� NL� MH� ELO� Y� SRVHEQL�
OLWXUJLML� Y� VRERWR� ��� DYJXVWD� SRYVHP� VSUHMHW� Y� &HUNHY� SR�
]DNUDPHQWLK� .UVWD�� %LUPH� LQ� 6Y�� (YKDULVWLMH�� � (YDQ� VH� MH�
PDUOMLYR�SULSUDYLO�QD� WD�GDQ��QD�NDWHUHP�MH�ELO�XPLW�Y�YRGL�
.UVWD�� VH� REOHNHO� Y� .ULVWXVD� LQ� SRVWDO� QRYL� VWYDULWHY�� � 3UL�
ELUPL�MH�PD]LOMHQ�V�VYHWLP�ROMHP�LQ�SR�PRþL�6Y��'XKD�GHOL�Y�
GXKRYQLãNHP� SUHURãNHP� LQ� NUDOMHYVNHP� SRVODQVWYX�� � 1DM�
(YDQ�RNXVL�LQ�YLGL�GDQHV�LQ�YHGQR�GREURWR�*RVSRGD�Y�GDUX�
.ULVWXVRYHJD� 7HOHVD� LQ� .UYL� LQ� SROQ� %RåMHJD� EODJRVORYD��
QDM�UHVQLþQR�åDUL�Y�YHVHOMX�� �³9LGHOL�VPR�SUDYR�OXþ��SUHMHOL�
VPR�QHEHãNHJD�'XKD��QDãOL�VPR�SUDYR�YHUR��LQ�PL�þDVWLPR�
QHUD]GHOMHQR�7URMLFR�� NHU�7URMLFD� QDV� MH� UHãLOD�´� � �OLWXUJLMD�
VY��-DQH]D�.UL]RVWRPD� 
1$â�ä831,-6.,�32/(71,�3,.1,.�-(�1$6/('1-2�
1('(/-2�� � ���� DYJXVWD�� QDã� ]DYHWQLãNL� SUD]QLN�
0DULMLQHJD�YQHERY]HWMD��MH�QDã�SROHWQL�SLNQLN�QD�6ORYHQVNL�
3ULVWDYL�� � =DþHOL� ERPR� ]� 0DãR� RE� ������ RSROGQH�� � 6OHGL�
NRVLOR�]�GXQDMVNLPL�]UH]NL�NL�MLK�ERGR�SULSUDYLOL�VWDUãL�QDãH�
6ORYHQVNH�âROH���3ULSUDYOMHQLK�ER�VDPR�����NRVLO���ýH�åHOLWH�
GRELWL�NRVLOR��GDU�����]D�RGUDVOH�LQ����]D�RWURNH���SRNOLþLWH�
åXSQLMVNL� XUDG� ]D� YDãR� UH]HUYDFLMR�� � 3R� PDãL� ERGR� WXGL�
VHUYLUDOL� KDPEXUJHUMH� LQ� ,WDOLMDQVNH� NOREDVH� Y�
0HGQDURGQHP� %LHUJDUWHQX�� � =D� SOHV� LQ� ]DEDYR� ER� LJUDO�
$QVDPEHO� 9HVHOL� *RGFL�� � 3R]QHMH� SRSROGDQ� ERGR� WXGL�
þHYDSþLþL�� KDPEXUJHUML�� SRPIUL�� NOREDVH� LQ� URDVW� EHHI�
VHQGYLþL�� �1DãH�2OWDUQR�'UXãWYR�ER� LPHOR�SURGDMR�SHFLYD��
LPHOL� ERPR� WXGL� .LWDMVNR� GUDåER�� LJUH� ]D� RWURNH� RE� �����
SRSROGDQ�LQ���������åUHEDQMD���2GSUW�ER�WXGL�SODYDOQL�ED]HQ�
]D� QRPLQDOQR� FHQR�� � 3URVLPR� GD� SURGDVWH� DOL� VDPL� NXSLWH�
YDãH�VUHþNH���*ODYQR�åUHEDQMH�ER�RE������]YHþHU���3RYDELWH�
YDãR� GUXåLQR� LQ� SULMDWHOMH� LQ� VH� QDP� SULGUXåLWH� QDVOHGQMR�
QHGHOMR� ���� DYJXVWD� QD� 6ORYHQVNL� 3ULVWDYL� ]D� OHS� ]DEDYHQ�
GUXåLQVNL�GDQ� 
352'$-$� .52)29�� � 2OWDUQR� GUXãWYR� LPD� SURGDMR� NURIRY� Y�
VRERWR�����DYJXVWD�Y�åXSQLMVNL�GYRUDQL�RE������]MXWUDM� 
('(1� 69(7291,� '$1�� � &OHYHODQGVNL� .XOWXUQL� YUWRYL�
SUD]QXMHMR�(GHQ�6YHWRYQL�'DQ� RG� OHWD� ����� SRG� WHPR�� ³0LU� SR�
PHGVHERMQHP� UD]XPHYDQMX�´� � /HWRV� MH� ��� REOHWQLFD� (GHQ�
6YHWRYQL� GDQ� �RGORåHQ� ODQVNR� OHWR� ]DUDGL� SDQGHPLMH�� Y� QHGHOMR�
����DYJXVWD�QD�&OHYHODQG�.XOWXUQLK�9UWRYLK�PHG�0/.�%OYG�� LQ�
(DVW� %OYG�� RG� ������ GR� ����� ]YHþHU�� � 9UWRYL� HGLQVWYHQR�
SUHGVWDYOMDMR�PQRJH�QDURGQRVWL��NL�QDUHGLMR�PR]DLN�&OHYHODQGVNH�
SRSXODFLMH�� � 'DQ� ER� YVHERYDO� SDUDGR� ]� ]DVWDYDPL�� ]DEDYR� LQ�
UD]OLþQR� HWQLþQR� KUDQR� SUL� SRVDPH]QLK� YUWRYLK�� WXGL� QDãHP�
6ORYHQVNHP�YUWX�QD�(DVW�%OYG��EOL]X�6W��&ODLU�$YH��PHG�3ROMVNLP�
LQ� ýHãNLP� YUWRP�� � 7XGL� ER� %HHU� *DUGHQ�� &KLOGUHQ¶V� 9LOODJH��
SURVWR� SDUNLUDQMH� LQ� ãH� YHþ�� � 3ULGLWH� LQ� SUD]QXMWH� &OHYHODQG� LQ�
ERGLWH�GHO�QDãH�&OHYHODQGVNH�6ORYHQVNH�SUHGVWDYLWYH� 
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